- =m hanHa TayH

i < i < ¥ < E \iii\\l < k < . < T < < ) < ) a -t\\\\iq- < : < ) < i < §
EX X3 —
</60£>< 3 780 >
o | 4
2 =1
CaHByson = —
j > p—— S
——— ({]
2 950 — o 3 T
< \_/'} S = CnanbHsi - <
71 IL @ 12,9 D —
%; Mepegnokin 3
:8/ 5,0 — = . 1 L ‘ 45 5 2
/LO/ ~ ™ 9 M
— | 1850 ol 660 1040 = >| 3790 %
=] g L__H H H
= RN l Y —_— N,
? [j N - DONN Homep . Mnowa
A ———— . HalimeHyBaHHs
NE : MPUMILLEHHS M2
<X 5 390 1835
! S g
o \_/ 1 Mepeqnockin 5,0
= KyxHs-BiTanbHs : Q} 2 KyxHa-BiTanbHs 20,2
20, : —
T 3 CanBy3son 52
o
S & Bankon (k=0,3) 4 CnanbHsi 12,9
«® o ™ 2s2
5550 E 5 BankoH (k=0,3) 2,2
OO0
3aranbHa nnowa 45,5 m?
0O Ly
Xutnosa nnowa 12,9 m?
%O - 4790 >/, ]
m N = .
E ' '_ [0 il il
NNV UOCONNNN NN\ AN AN AN NN
\\\\iﬁiib}\\\§§§§§}§>\§§§§§}\\\i??i?b\\\iiiiE}\\\§§§§§§\E§




